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Level 16 Test answers 
 

1. Write in words: 64,206 
sixty-four thousand two hundred and six 
 

2. Write in figures: ninety thousand, one hundred and 
seven.  99,107 
 
For the next questions, use the back of the sheet to work it out. 

3. What is the sum of 98,246, 3,792, 564 and 8? 
102,610 

 
4. 48,927 + 64,329 = 113,256   

 
5. Double 425 =  850 

 
6. Halve 942 = 471 

 
7. Subtract 468 from 840 = 372 

 
8. Find the difference between 935 and 328 = 607 

 
9. 8 – 4 = 4   28 – 4 = 24   548 – 4 = 544 

 
10. 85,421 = 80,401 + 20 

 
11.     98,410 + 220 = 98,630 
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12. In the number 52,614, what is the value of: 
a) the 5? 50,000 
b) the 26?  2,600 
c) the 61? 610 
d) the 4?   4 ones                                      (¼ mark each) 

 
13.                        = 28.5 (or 28 rem 4) 
 
14. 742 x 7 = 5,194 

 
15. 429 + 17 + ½ of 48 = 470    (Use BOMDAS) 

 
16. $6.45 + $18.40 - $3.60 = $21.25 

 
17. ⅔ of 66 = 44 

 
18. Half of ½ = ¼ 

 

19. Write           as a decimal fraction. .5 
 

20.  I had $50.65 and spent $3.40. How much do I 
have left? $47.25 

 
 


